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O AB(S/YEF), J12H(2021-01-01~2021-12-31) (S92l
oot = HAE Y= Off AkoH Ol &F & on NE=aH &toH HI_ =
(BgE)

111 301
1z Aol 2
113 AgEz
114 Mg
115 gEZ ¥ RN
116 sEsEE
117 JIEtE M T
121 Il B 1,000,000 1,000,000 779,300 220,700 | 77.93 %
122 = 3 2 K|
123 3lo/H| 1,200,000 1,200,000 600,000 600,000 |  50.00 %
131 o4l
132 28H & 248 3,600,800 3,600,800 3,337,450 263,350 | 92.69 %
133 2=2e3 3,414,000 3,414,000 2,618,169 795,831 |  76.69 %
134 MAZL2 550,000 550,000 544,243 5,757 | 98.95 %
135 Pt
136 o2y
137 S S22
138 pa= LN 50,000 50,000 30,000 20,000 | 60.00 %
211 A&
212 Xt ok S|
213 A& EH ST HI 4,000,000 4,000,000 3,896,100 103,900 |  97.40 %
311 [CoAES
312 GNCY
313 E20|2NEEANALAME
314 DEIIESAIK/IAHE
411 B2 S|
412 AEAEHIEES
413 (YRR E O EESEN N
414 U EHRHR] R ALY 6,600,000 6,600,000 3,600,000 3,000,000 | 54.55 %
415 SHC QSR 12,840,000 12,840,000 12,744,170 95,830 | 99.25 %
416 SV 51,700,000 51,700,000 41,700,000 10,000,000 |  80.66 %
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= HEBE 0l arot 01l b 4 o8 EEL aroy (,Zf%;
417 TAEXRAASY
421 AtElis E2&X 6,500,000 6,500,000 6,500,000
422 AEtls 0l=® A3
423 A Ls SBti sl
424 At LS HERHE
425 A ULE S23
426 2 &S0 1,000,000 1,000,000 1,000,000
427 M LESED]| 1,000,000 1,000,000 500,000 500,000 50.00 %
428 HIAE AL S XI02HEH O]
429 OFZEE|2t 2| & A
430 Ao SEZ 2D
432 AL O 2 A FE
431 E2H|
511 SAE
611 (0:(N=]}=]] 21,740,836 21,740,836 21,740,836
S22 500,000 500,000 500,000 100.00 %
711 el Z2aE
811 R =
M = B 115,695,636 115,695,636 70,849,432 44 846,204 61.24 %
AISHHOIZE 20|22
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